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QUESTION 1

Given the code fragment: What is the result?

public class Test|

vold readCard(int cardie) throws LEuception |
System.out.println ("Reading Card™);
'

vold checkCardiint cardNo) throws RuntimeExcepticn { 7/ line nl
System.out.println ("Checking Card");
i

public static wvoid main(3tring[] args) |

Test ex = new Test () ;

int cardMe = 12344;

ex.chaeckCard (cardNe) ; J/line rZ
ey, regdCard (cardiNo) ; Ffline r3

A. Reading Card Checking Card

B. Compilation fails only at line nl.

C. Compilation fails only at line n2.

D. Compilation fails only at line n3.

E. Compilation fails at both line n2 and line n3.

Correct Answer: D

QUESTION 2

Given:

String[] =trs = new Stringl[Z]:

int idx = 0;

for (8tring = : =trs) |
stre[idx].concat (" element " + idx);
ids++;

!
for (idx = 0; idx < =ztre=.length; idz++) |
Svstem.out.printlnistr=s[idxz]);
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What is the result?
interface Readable |

public void readBook () ;
public void zetBookMark() ;

abstract class Book implements Readabls | /¢ line nl
public void readBook () { 1}
/4 line n2

}

~laz= EBook extend=s Boaok | A4 liae n3
public void readBook () { 1}
Ff line n4d

}

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: B

QUESTION 3

Given:

public class Marklist {

int num;

public static void graceMarks(Marklist obj4) {
obj4.num += 10;

}

public static void main(String[] args) {
MarkList obj1 = new MarkList();
MarkList obj2 = obj1;

MarkList obj1 = null;

obj2.num = 60;
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graceMarks(obj2);

}
}

How many objects are created in the memory runtime?
Al

B. 2

C.3

D.4

Correct Answer: B

Explanation: objl and obj3.

when you do e2 = el you\\'re copying object references - you\\'re not making a copy of the object - and so the variables
el and e2 will both point to the same object.

QUESTION 4

Given:

package pl:

public class Acc |
il
private int q;
protected int r;
public int s

Test.java:

package pa;
import pl.Acc:
publiz class Test extends Acc |
public static volid main(Stringl[] args) |
Acc ob] = new Yest ()

What is the result?
A. 11, 21, 31, 11, 21, 31

B. 11, 21, 31, 12, 22, 32
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C. 12, 22, 32,12, 22, 32
D. 10, 20, 30, 10, 20, 30

Correct Answer: D

QUESTION 5

Which three statements are true about the structure of a Java class?
A. A class can have only one private constructor.

B. A method can have the same name as a field.

C. A class can have overloaded static methods.

D. A public class must have a main method.

E. The methods are mandatory components of a class.

F. The fields need not be initialized before use.

Correct Answer: BCD
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